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It is proved that, for any sequence (γi), n < γ1 < γ2 < . . . < n + 1, the sequence of the sets
of functions in C(In) whose graphs are of Hausdorff dimension > γi forms an Fσ-absorbing
sequence in C(In).
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� ' �������$%�
�
�� ����� �2�� �����
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��(��� A � 
����%��
� �������� ��
��%�'
� diam(A)� 4�� ��������" ���������*�" S
n#��
������ 	��� I

n �
��%�
� mesh(S) �	 sup{diam(σ) | σ ∈ S}� 4�� x ∈ X � ε > 0

��(��� Oε(x) = {y ∈ X|d(x, y) < ε} ' ��������� ε#�	
�� 
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4�� �������������� 
����%���� 	�
��	����� �������� X� %���
 C(X) ��
��%�'#

� ������� ���! ����������!  ��	*�& ��
��%���! �� X 
 
����	�$� �����(���$ sup#
���
�$� d̂(f, g) = sup{d(f(x), g(x)) | x ∈ X} ��� ��������! f, g ∈ C(X)�
6��� �����$���! �	�����! �����	��� ��
��%�'
� %���
 ANR� 3�
	���� ���
��(���

A � X ∈ ANR ��
���'
� ���

���� Z#�������� � X �	/� ��� ���������� ����������#
�� �������(���� ε : X → (0,∞) ����' ���������� �������(���� f : X → X� ε#���
�	� ��
����(����� � ������ /� d(x, f(x)) < ε(x)� ��� 	�(���� x ∈ X� ��	�� /� f(X) ⊂ X\A ����#
������� f(X) ⊂ X\A������ �2��� .	������� g : Y → X ��
���'
� Z#��
�������� �	/�
&��� ����
 g(Y ) ' Z#
��(���$ �X� .������(���� f : Y → X ��
���'
� ��������� ���
���
��(���$ A ⊂ X� �	/� ��� ���������� a ∈ A � ���������� �	��� U 
��(��� f−1(a)�
����' �	�� V ��%	� a ��	�&� /� f−1(V ) ⊂ U � 1��(��� A � X ��
���'
� σZ����������
�	/� A =

⋃∞
i=1 Ai� �� ��� Ai 7 Z#
��(��� � X�

���������� 	�� Q 7 *� 
��%����& ���	��%����& ������	 Q = [−1, 1]ω� 1� ��
�����#
��
�
� ��	�( �������� ����������� � Q8
���������	��������
 s = (−1, 1)ω�

�����

�� ��	��������
 Σ = {(ti) ∈ Q | supi |ti| < 1}�
9���������& ������������& ���������� ������� ��
��%�'
� %���
 l2�
:������ X ��
���'���� s������������ �	/� 	�(�� ��%	� x ∈ M 
�' �	��� ��
��
��#

 ��& ���	����& ���
��(��� � s�

 ��� �(�&)�)!��!)-� ;�!�& X 7 
����%��& �������� �������������� X ��
���'
�
������� exp X ������(��! 	�
��	���! ���
��(�� � X 
 ��������'$ .�'������� <�
� *�'"
��������" �	����$�� 
��(��� �������

〈V1, ..., Vn〉 =

{
A ∈ exp X | A ⊂

n⋃
i=1

Vi � A ∩ Vi 	= ∅ ��� 	�(���� i ∈ {1, 2, ..., n}
}

,

�� V1, ..., Vn �������$�� ��
)$ ���	����! � X 
��(��� -�������� .�'������ �����(�'����
�������� ��	������ dH �

dH(A, B) = inf{ε > 0|A ⊂ Oε(B), B ⊂ Oε(A)}.
 � � �-,() �$��*!).$� ;�!�& F 7 ���
��(��� � R

n ��� ���	��� n � s 7 �����)'
��
%����� 4�� ε > 0 ��
��%�
�

Hs
ε(F ) = inf

B

∑
B∈B

(diamB)s,

�� �� �
�
 �������� �� ���! ��	�����! B 
��(��� F � ��� �	�! mesh(B) < ε�
;�!�& Hs(F ) = limε→0 Hs

ε(F )� =���' '���� %���� s0� ����� ��	������ 
��(��� F � ��	�
/� Hs(F ) = ∞� �	/� 0 ≤ s < s0� � Hs(F ) = 0� �	/� s0 < s < ∞ ����� �>��� :�
��%�'
�
dimH(F ) = s0� 1��(��� F � R

n ��
���'
� s��������� (0 ≤ s ≤ n)� �	/� dimH(F ) = s�

�&!)&,$ �� /0� 1���23 ����� Γ � ����	
 ���

	�

f(x) =
∞∑
i=1

λs−2
i g(λix), x ∈ [0, 1],

�� 1 < s < 2 	 g(4k +x) =

⎧⎨
⎩

x (0 ≤ x < 1),
2 − x (1 ≤ x < 3),
x − 4 (3 ≤ x < 4)

��� 0 ≤ x < 4 	 
	���� k� ����� {λi} �

����	����	��� �������� ����� ��
�� �� λi+1

λi
������� �� +∞ 	 log λi+1

log λi
→ 1� ���	 dimHΓ = s�



;�!�& X 7 ������������& 
����
����& ��������%��& �������� 9����������$ ' ��#
������ �����
��

�&!)&,$  � /�43  �� 
�!���� α ≥ 0 "��!���HD≤α(X) = {A ∈ exp(X) | dimH(A) ≤ α}
� Gδ#�	�"��!���$ �������� exp(X)�

4�� n ∈ N � γ ∈ (n, n + 1) ��
��%�'
� C>γ(I
n) = {f ∈ C(In) | dimH(graph f) > γ}.

 �4� �!56-#$7%( �-��&,-� ;�����'
� 	����	� ���	� �
��%���� 
 �����" �������$%�!
�����
 � l2#
��������! ���������,� ���� �2���

Fσ#���
��������� � ��������X ��
���'���� ����� (Xn)n∈N ���
��(�� �X� ��� �	���
Xn ∈ Fσ � Xn ⊃ Xn+1 ��� 	�(���� n ∈ N� ;�!�& X = (Xn)∞n=1 7 Fσ#������������� �
��������X� ?	/�X 7 �����& 
����%��& �������� �� ������������� (X, X) 
� ��
���'
�
F∞

σ ����
����������

?	/� ������� X ' ANR � X = (Xn)∞n=1 7 Fσ#������������� � X� �� F∞
σ # ��������#

����� (X, X) ��
���'���� ��

�� F∞
σ �	�������

���� �	/� ��� 	�(��" F∞

σ #�������������
(A, A)� �� A = (A)∞i=1� 	�(�� ���������� �������(���� f : A → X� /� ' Z#�	�������

�� ���	�& 
�
	����& ���
��(��� K � A� 
�(�� �����
��� Z#�	�������
 g : A → X ��	�
/� g | K = f | K � ��� 	�(���� i ∈ N 
�'
� g−1(Xi)\K = Ai\K� :��
��(��� A ANR#
�������� X ��
���'���� ����������� ����	������ �	/� ����' ��
������ ξ : X × I → X
��	�� /� ξ(x, 0) = x ��� ���������� x � ξ(X × (0, 1]) ⊂ X\A�
;�!�& X 7 l2#
�������� Fσ#������������� X ��
���'���� Fσ#���
������� ��������#

����$ � 
�������� X �	/� 
��(��� X1 ' 
��%����
 ��)'������
 ������! Z#
��(��
� X� ������������� (X, X) ' ������ F∞

σ #������������$ � 
��(��� X\X1 ' ��
�����&��
��!������$ � X�
:��������$ ' �������� �����
� '������� ��� �������$%�! �������������& � l2#


��������!�

�&!)&,$ 4� /83 ����� M � l2#"������� 	 Xi� i ∈ {1, 2}� � ��	 Fσ#����	�������	 � M �
��� �
�� ��
���$���� �������	 �"���%

&'( X i
1 � ��"����	��� ��������� "��!����

&)( (M, Xi) � ������ F∞
σ #��	���������$�

���	� (M, X1) ∼= (M, X2)�

4� ��#!+#-9 )&"�6:�$�� 1���$ ������ ��
���� ' ���� ��������" �������������
(C(In), C>γk

(In)∞k=1)� �� n ≤ γ1 < γ2 < . . . < γk < . . . < n + 1�

�&!)&,$ 8� *
�� n ≥ 1 	 Γ = {γk}∞k=1 � ��	����� ������
����� "��!���� �� n ≤
γ1 < γ2 < . . . < γk < . . . < n + 1� �� ����	����	��� (C(In), (C>γk

(In))∞k=1) � ������
F∞

σ #��	���������$�

���������� 3� �	��'
� �������� F∞
σ #������������� (X, {Am}∞m=1)� � ���������� �������#

(���� f : X → C(In)� /� ' Z#�	�������
 �� ���	�& 
�
	����& ���
��(��� K � X�
��	���	� �������� Z#
��(��� � C(In) ' ������$ Z#
��(���$ ����� �2��� 
� 
�(�#

� ����������� /� f [X\K] ∩ f [K] = ∅ � �������(���� f 
�
	���� ��� f [K]� ;�!�&
ε : C(In) → (0, 1] 7 ���	� ����������  ��	*���
�
��%�
� �������(���� µ : X → [0, 1] �	 µ(x) = 1

3
min{ε(f(x)), d̂(f(x), f [K])}� ;�!�&

PL(In) 7 ���
��(��� � C(In)� /� �	����'���� 
 ���! 	��	���#����&��!  ��	*�&� .���
�



����� �@��� /� 
��(��� PL(In) ' ��	����� ��
�����&�� /�����$ � C(In)� A ��	�
� ��
��

��(��� C(In)\PL(In) ' ��	����� ��
�����&�� ��!������$ � C(In) �� ����' ��
������
H : C(In) × I → C(In) ��	�� /�8

��� H0 = 1C(In)B

��� ��� 	�(���� t ∈ (0, 1]� Ht(C(In)) ⊆ PL(In)�

�%������� �����	��� 
�(�
� ����������� /�8

��� ��� 	�(���� t ∈ [0, 1], d̂(Ht, 1C(In)) ≤ 2t�

4�� 	�(���� x ∈ X� ���&
�
� F̃ (x) = H(f(x), µ(x))� -���� �	/� µ(x) > 0�  ��	*��
F̃ (x) ' 	��	���#����&��
 �����(����
  ��	*�" f(x)� .�	��������$%� �������������
 ��	*�" F̃ (x)� 
�(�
� ������� δ′(x) > 0 ��� �	��� ��	���'���� �
���8

����� sup{diam(A × F̃ (x)(A)) | diamA ≤ δ′(x)} < µ(x)
8
�

:�
��%�
�8
����� ∆(x) = sup{δ′(x)}�
=�,�
� �����
�� ∆(x) 7 *� 
�	��
����� ��&��� %����� ��� �	��� ��	���'���� �����#

��� �
���8 ��� ��������" ���
��(��� A � I
n� ���
��� �	�" �� ������/�' ∆(x)� ���
���


��(��� A × F̃ (x)(A) 
��,�& 
� µ(x)
8
� 1�'
�� ∆(x) > 0 ��� x ∈ X\K� 4�� x ∈ K

���&
�
� ∆(x) = 0�
��(�� 
� �
��%���  ��	*�$ ∆: X → I�

�&,$ �� +��

	� ∆: X → I ���	����������� ������

���������� C�� ������� *�� ������ �������� /� ��� ���������� t ∈ (0, 1)� 
��(���
∆−1[(t, 1]] ' ���	����$ � X\K� 4�� ���	��� t ∈ (0, 1) 
� �	��'
� �������� x ∈ ∆−1[(t, 1]]�
.��D��
� δ > 0 ��	�� /�� ��	��������� ���������� t < δ < ∆(x)� :�
��%�
� η =
sup{diam(A × F̃ (x)(A)) | diamA ≤ δ}� -���� ��	���	� δ < ∆(x)� ��	���'���� ����������

η < µ(x)
8
� 3 *�'" ���������� �������'� /� ����' ������� ��&��� %���� η1� ��� �	��� ��	���#

'���� ���������� η < µ(x)
8

− η1� ;�!�& V 7 ��	�& �	�� ��%	� x � X\K� ��� �	��� ��	���#
'���� �
���8 ��� 	�(���� y ∈ V � d̂(F̃ (x), F̃ (y)) < 1

2

(
µ(x)

8
− (η1 + η)

)
� d(µ(x), µ(y)) < η1

�
�(�
� ������� ��	�& �	��� ���!���$%� ������������� �������(��� F̃ �� µ�� -���

sup
{

diam(A × F̃ (y)(A)) | diamA ≤ δ
}
≤ η + 2d̂(F̃ (x), F̃ (y)) <

µ(x)

8
− η1 <

µ(y)

8
.

-�
� V ⊂ ∆−1[(t, 1]]� /� �������� ��
��

.�	��������$%� ��
� �� 
�(�
� ������(����� ����� ��� �� 2>E��� /� ����' ����#
������  ��	*�� ∆′(x) : X → I� ��� �	�" ��	���'���� �
��� 0 ≤ ∆′ ≤ ∆� 6��
 ��#
��� �	/� ��� ���	��� x ∈ X\K 
�'
� ∆(x) > 0� �� 0 < ∆′(x) < ∆(x)� :�
��%�
�

δ(x) = min
{

∆′(x)
2

, µ(x)
8

}
� �%������� /�  ��	*�� δ : X → I ' ����������$ � ��� ��" ��	�#

��'���� �
���8
���@� 0 < δ(x) < 1 ��� 	�(���� x ∈ X\K � δ(x) = 0 ��� 	�(���� x ∈ K�
�
��%�
� �����  ��	*�$ F (x) ∈ C(In) ��������$  ��
���$

F (x)(y) = F̃ (x)

(
min

(
1,

y1

1 − δ(x)

)
, . . . , min

(
1,

yn

1 − δ(x)

))
.



=�,�
� �����
�� ��� �	  ��	*�" F (x) 7 *� ��� �	  ��	*�" F̃ (x)� ��������& 
 	�� �#
*�'���
 ����	� 1 − δ(x) �� 	�(��& 	����������& ���� � 	��	���#����&�� ������(���& ��
���� 	�� I

n� F��	� ��%���� /� ��� x ∈ X\K� F (x) ∈ PL(In)� 3 �
��� sup{diam(A ×
F̃ (x)(A)) | diamA ≤ ∆′(x)} < µ(x)

8
�� �
��%����  ��	*�" F (x) ���	� �������'� /�

d̂(F (x), F̃ (x)) < µ(x)
8
�

;�!�& ��� ���	��� ��&����� %���� γ ∈ (1, 2)� gγ  ��	*�� 
 �����
� �� ��� �	�"
dimH(graph(gγ)) = γ� G�
�����
�  ��	*�$ ĝγ ∈ C(I)� �
��%��� �	

ĝγ(y) =

⎧⎪⎨
⎪⎩

gγ(0)/‖gγ‖, y ∈ [0, 1
4
);

gγ

(
(y − 1

4
)/1

2

)
/‖gγ‖, y ∈ [1

4
, 3

4
];

gγ(1)/‖gγ‖, y ∈ (3
4
, 1].

F��	� ��%���� /� dimH

(
graph ĝγ |[1

4
, 3
4 ]

)
=γ ��>� �� �>��� dimH

(
graph ĝγ|[0, 1

4 ]∪[ 3
4
,1]

)
= 1�

-�
�� dimH(graph ĝγ)=γ� .�	��������$%� ���������� ����������� ��
��� ������� �
����� �E��� 
�(�
� ������(������ /� ��� �	  ��	*�" ĝ1γ ∈ C(In)� �
��%���" �	
ĝ1γ(y1, y2, . . . , yn) = ĝγ(y1)� 
���
� ��
�� ������� � (n − 1) + γ� 6��
 ����� ��	���	��
 �	��%��� graph ĝ1γ = graph ĝγ × I

n−1� �� ��� ��������! k, k′ ∈ (0, 1)� k < k′ ���������
��������

dimH

(
graph ĝ1γ |[1

4
, 3
4 ]×[k,k′]n−1

)
= (n − 1) + γ.

3� �	��'
� ����� �������� ����	�  ��	*�$ h ∈ C(In)� /� 
���������' �
���8

�2� h |[ 1
4
, 3
4 ]

n= c = const;

�@� h |∂In≡ 0, h |In\∂In> 0;

�@)� sup
y∈In

|h(y)| ≤ 1�

�
��%�
�  ��	*�$ g̃γ ∈ C(In)  ��
���$ g̃γ(y) = ĝ1γ(y) · h(y). 3 �
��� �2� � �������#

���! �����������& ��
��� ������� � �������' ��>�� �� �>�� /� dimH

(
graph g̃γ |[ 1

4
, 3
4
]n

)
=

(n−1)+γ� 3 ����� /� �������(���� 
��(���� ��  ��	*�$ ' ���,�*���
� � 
 ����������"

����������� ��
��� ������� � ����� �>�� ���H� �������'� /� dimH

(
graph g̃γ |

In\[ 1
4
, 3
4
]n

)
≤

dimH

(
graph ĝ1γ |

In\[ 1
4
, 3
4
]n

)
= (n−1)+γ� .��!���$%� *�  �	�� �� �
��� �@� � �@)�� 
�(�
�

������(������ /�  ��	*�� g̃γ 
���������' �
���8

�0� dimH(graph g̃γ) = (n − 1) + γB

�I� g̃γ |∂In≡ 0B

�>� sup
y∈In

|g̃γ(y)| ≤ 1�

3���,�
� N �	 ��
)$�	��� ��)'������ ���	��%����" 	���	���� ���	��%����! 
��(���
��!�& N1, N2, . . .� 4�� m ≥ 1 �� p ∈ Nm ��
��%�
� ḡp = g̃γm+1−(n−1)�
G�
�����
� ���������� C′ �������� C(In)� �	�& �	����'���� 
 ���! ���
����� ���#

����� C(In)� /� ������$$�� 0 �� 
�(� 	��� I
n� �%������� C′ �	 ����� ���	�� ���	��#

%������
���� ���� �� ��	����� 	�
��	��� ���
��(��� � ��	�����#���	��
� ���������
��
��
�� �� �� l2 ����� ����� �� 
��(��� PL(In) ∩ C′ ��	����� ��
�����&�� /����� �
�������� C′� -�
� ����' ��
������ H̃ : C′ × I → C′� /� 
���������' �
���� �������%�� ��
�
�� ���J����



�
��%�
� �������(���� ϕi : I → C(In) �	 ϕi(t) = H̃(ḡi, t/2)� -���� ϕi(0) = ḡi�
ϕi((0, 1]) ⊆ PL(In) ∩ C′ � ��� 	�(���� t ∈ [0, 1] ϕi(t) |∂In≡ 0 ����!����,� �
��� �I���
4�� 	�(���� m ≥ 1 
���,�
� Am =

⋃∞
p=1 Ap

m� �� Ap
m 7 
�
	���� ���
��(��� � X�

:�
��%�
� %���
 i(m, p) p#�& ���
��� 
��(��� Nm� 4�� ���������� x ∈ X �
��%�
�
 ��	*�$ Gi(m,p)(x) : I

n → R �	

Gi(m,p)(x)(y) =
δ(x)

2
·

⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

ϕi(m,p)(d(x, Ap
m))

(
y−

(
1− δ(x)

2
− δ(x)

2i(m,p)

)
·1

δ(x)

2i(m,p)+1

)
,

��� y ∈
[
1 − δ(x)

2
− δ(x)

2i(m,p) , 1 − δ(x)
2

− δ(x)

2i(m,p)+1

]n

;

0, ��� y ∈ I
n\

[
1 − δ(x)

2
− δ(x)

2i(m,p) , 1 − δ(x)
2

− δ(x)

2i(m,p)+1

]n

,

�� 1 = (1, 1, . . . , 1)� ��� x ∈ X\K � Gi(m,p)(x) ≡ 0 ��� x ∈ K� �
��%�
� G(x)(y) =∑∞
m=1

∑∞
p=1

1
2i(m,p) Gi(m,p)(x)(y)�

;�!�& ξ : R → [0, 1] 7 ���	��%���� �� ����*�&����  ��	*�� ��	�� /� ξ(R\[0, 3]) = 0�
ξ([1, 2]) = 1� ξ | (0, 1) 
�������� 
�����'� ξ | (2, 3) 
�������� �����'� 4�� 	�(����
t ∈ [0, 1) ��!�& ξt = ξ ◦ kt� �� kt : R → R 7  ��	*��� �
��%���  ��
���$8

kt(x) =

⎧⎨
⎩

x, �	/� x ∈ R\[0, 3);
x

t+1
, �	/� x ∈ [0, 3

2
(t + 1)];

x−3t
1−t

, �	/� x ∈ [3
2
(t + 1), 3).

3����(�
�� /�  ��	*�� ξt ���	��%���� �� ����*�&���� ��� 	�(���� t ∈ [0, 1) � �������#
(���� t �→ ξt ���������� �	����' [0, 1) � C(R)�

;�!�& ξnt(x) = ξt

(
9n(n+1)

2

(
x − 1

n
+ 1

3n(n+1)

))
��� n ∈ N� 3����(
�� /� ����"  ��	*�&

ξnt � ξmt′ ��
)$�	��� ��� n 	= m � ��������! t, t′� 4�� ���������� ���
���� t ∈ [0, 1)ω� ��
t = (ti)

∞
i=1� ���&
�
�K(t)(x) = ĥ(x)+

∑∞
n=1 ξntn(x)·ĥ(x)� �� ĥ : R → [0, 1/2]7 ���	��%����

�� ����*�&����  ��	*�� ��	�� /� ĥ(x) = 0� �	/� x ≤ 0� ĥ(x) 
�������� 
�����'� �	/�
x ∈ (0, 1] � ĥ(x) = 1/2� �	/� x > 1� A ��	�
� �����	� ��� � �����& %������ ��������
�����
���� 
����'���� ���� ����� %������& ���

∑∞
n=1 ĥ( 1

n
) ' 
�(�������
 �� �%�������


��(��
� � ��
�  ��	*�� K(t) ∈ C(R) ��� 	�(���� t ∈ [0, 1)ω�
;�!�& T : I

n−1 → R+ 7 ���	��%���� �� ����*�&����  ��	*��� /� ������$' H ��,�
�� 
�(� 	��� I

n−1� :��&
�
� ��� n > 1� t ∈ [0, 1)ω� t = (ti)
∞
i=1 � (x1, x2, . . . , xn) ∈ I

n

Φ(t)(x1, x2, . . . , xn) = K(t)(x1) · T (x2, x3, . . . , xn),

� ��� n = 1 Φ(t)(x) = K(t)(x)� :�	�(�
�� /� �������(���� t �→ Φ(t) 
�
	���� �	����'
[0, 1)ω � C(In)�

;<=  �����������
 ����!������� Φ� 4�������� ������� ������������� �������(����
K : [0, 1)ω → C(R)� 3 �
��� ��	������! ��  ��	*�$ ĥ : R → [0, 1/2]� �������'� /� ���
	�(���� δ > 0 ����' n0 ∈ N ��� �	��� ĥ( 1

n
) ≤ δ ��� ���! n > n0� � ��	�(� ���!���$%�

������������� �� t �������(���� t �→ kt� ����' ε > 0 ��	�� /� ‖ξtn − ξt′n‖ < δ �	 ����	�
|tn−t′n| < ε ��� ���! n ≤ n0� �%������� /� ��� ��	�! δ, ε, n0 ��	���'���� �
���8 ��� ���!
t′ ∈ O(t, n0; ε) = {t′ ∈ [0, 1)ω | |ti − t′i| < ε, i = 1, 2, . . . , n0}� ‖K(t′) − K(t)‖ < δ� �������
���������� �������� ������������� �������(���� K� � ��(� � Φ�

;>= "�#$��������
 ����!������� Φ �������' 
 ��)'	�������� �������(���� ξt �� ����#
���� �������(���� K�



;1= %���������
 ����!������� Φ� .�����
� ������������� {t(k)}∞k=1 � �������� [0, 1)ω�
�	� �� 
����'���� � *��
� ��������� � ������
�� /� ���������� �������������  ��	*�&
{Φ(t(k))}∞k=1 �� 
����'���� � �������� C(In)� ��	���	� ������� ������������� ��
��(���

�� ����' n ∈ N ��� �	��� ������������� {t(k)
n }∞k=1 ��
��(�� � �������� [0, 1)� 3 ��������

�������(���� Φ �������'� /� ��� ��������� &��� 
�
	�������� ��������� �������� /�
������������� {ξ

t
(k)
n
}∞k=1 �� 
����'���� � �������� C(R)� G�
�����
� ��� 
�(���� �����#

	�8 1) ������������� {t(k)
n }∞k=1 �� '  ����
��������$ � �������� [0, 1) �
� ��
�����'
�

������� [0, 1) 
 K�	������$ 
����	�$�� -���� 
 �������� �������(���� kt �������'� /�
���������� �������������  ��	*�& {ξ

t
(k)
n
}∞k=1 �� ����  ����
��������$� � ��(� � 
��(��$

� �������� C(R)� 2) :������������ {t(k)
n }∞k=1 
����'���� �� 1 ��� k → +∞� A ��	�
� ��#

���	� ������������� {k
t
(k)
n
}∞k=1 
����'���� ��  ��	*�" k1� �	� ' ��
�����$ � ��%*� x = 3�

3����� �������'� /� ���������� �������������  ��	*�& {ξ
t
(k)
n
}∞k=1 
����'���� ��  ��	*�"

ξ1� �	� ��	�( ' ��
�����$ � ��%*� x = 3� ������ ξ1 	∈ C(R)� L� �������� 
�
	�������
�������(���� Φ�
��	���	� [0, 1)ω ∼= s ∼= l2� �� 
 ���������� ��/� 
�(�
� ������(������ /� ����'


�
	���� �	������� h̃ : X → C(In)� �	�� ���!���$%� �������� �������(���� Φ� ���
	�(���� x ∈ X 
���������' �
��� 8

�E� h̃(x) |∂In≡ 0� h̃(x)(y) > 0 ��� ���! y ∈ I
n\∂I

nB
��H� sup

y∈In
|h̃(x)| ≤ 1B

��H)� h̃ 7 ����	�  ��	*�� �������� C(In)�

�
��%�
�  ��	*�$ P (x) : I
n → R ��� x ∈ X\K  ��
���$

P (x)(y) =
δ(x)

2
·

⎧⎪⎨
⎪⎩

h̃(x)

(
y−(1− δ(x)

4 )·1
δ(x)
4

)
, ��� y ∈

[
1 − δ(x)

4
, 1

]n

;

0, ��� y ∈ I
n\

[
1 − δ(x)

4
, 1

]n

,

� P (x) ≡ 0 ��� x ∈ K�
�
��%�
� ����� ��� 	�(���� x ∈ X �������(���� q : X → C(In) �	

q(x) = F (x) + G(x) + P (x).

1� ������(�'
�� /� q 7,�	��� �������(����� ����� �������(���� �	� 
���������'
�
��� 
 �
��%���� ������" Fσ#���������������� 4�������� *����  �	�� ��
����'���� ��
��	� 	��	��

�)!? �� ,	��-��!���� q 
���
��� ���������� ����������� ����������� �	��	��� q | K =
f | K 	 d̂(f(x), q(x)) ≤ 3

4
min{ε(f(x)), d̂(f(x), f [K])} ��� 	�(���� x ∈ X�

;<= 4�� ��������� ����  �	��� /� q(x) ∈ C(In)� ��������� ������� ������������� 
�


����$ y  ��	*�& F (x)(y)� G(x)(y)� P (x)(y) ��� ���	���  �	�������� x ∈ X�
;������������  ��	*�" F (x) ' �%������$� ��	���	� ���� ���������� 
� ����
���$

����������!  ��	*�&�
M��	*�� G(x)(y) ' ��
�$ ����

∑∞
i=1

1
2i Gi(x)(y)� 4�� 	�(���� i ∈ N�  ��	*��

Gi(x)(y) = δ(x) · ϕi(t)(y) ��� ������� t ∈ [0, 1] � y ∈
[
1 − δ(x)

2
− δ(x)

2i , 1 − δ(x)
2

− δ(x)
2i+1

]n

�

����� ' ����������$ ��� ��	�! y� ��	���	� ϕi([0, 1]) ⊆ C(In) 
� ��������$ �
����� �
��

���� ����B ��� y ∈ I
n\

[
1 − δ(x)

2
− δ(x)

2i , 1 − δ(x)
2

− δ(x)
2i+1

]n

�Gi(x)(y)� �%������� ���������� ���#

���(��� ����!���$%� �
��� �I��� ��(�� Gi(x) ∈ C(In)� .��!���$%� �
��� �>� � ���@��




�'
� |Gi(x)(y)| ≤ 1 ��� 	�(���� y ∈ I
n� L� �
��%�'� /� ���

∑∞
i=1

1
2i Gi(x) �����
����


����'���� �� G(x) �� I
n� /� ' ���������$ �
���$ �������������  ��	*�" G(x)(y)�

;������������  ��	*�" P (x)(y) �������' 
 �
��� �E��

;>= 4�� ��������� ������������� �������(���� q� ������ ������� ������������� �
�


����$ x� �������(��� F (x)�G(x) � P (x)�

;������������ �������(���� F �������' 
 ������������� ��	��������! ��� &���
�������� �������(��� H � f �µ � δ�

;������������ �������(���� Gi �������' 
 ������������� �������(��� ϕi � δ� �
�#
�� ���@� � ������������� 
����	� d� ��	���	� ��� 	�(���� x ∈ X� ‖Gi(x)‖ ≤ 1 ��
���
���@�� �>��� �� ���� �	������& 
  ��	*�& ci ∈ C(In)� �� ci ≡ 1

2i '� �%������� 
��(��

� 
�(�������
 ��� ����

∑∞
i=1

1
2i Gi� L� �
��%�'� /� ������������� %���	���! ��
 ��#

��
∑∞

i=1
1
2i Gi '  ����
��������$ � �����
� 
����%��
� �������� C(X, C(In))� 
���	�

�������' ������������� �������(���� G�

;������������ �������(���� P �������' 
 ������������� �������(��� i� δ � �
���
���@��

;1= 3� �	��'
� �������� x ∈ X� �%������� d̂(f(x), F (x)) ≤ µ(x)
8

+ 2µ(x) �
� �
���$ ��� �

��������$  ��	*�" δ(x)�� d̂(F (x), F (x)+G(x)+P (x)) ≤ µ(x)
8
���	���	�� 
 �������� �����#

�����!  ��	*�& � �
�� �>�� ��H� �������'� /� supy∈In |G(x)(y)| ≤ δ(x)
2
� supy∈In |P (x)(y)| ≤

δ(x)
2
�� ����,� ����� ��� ���������� y ∈ I

n ��	���'���� P (x)(y) · G(x)(y) = 0�� -����

d̂(f(x), q(x)) ≤ µ(x)
8

+ µ(x)
8

+ 2µ(x) = 9
4
µ(x) ≤ 3

4
min{ε(f(x)), d̂(f(x), f [K])}� ������� ��#

�������� ��������� /� q | K = f | K�

�)!?  � ,	��-��!���� q � ��"
���� �
��������

3����(�
� ���%��	�� /� 
 ���������� 6��	�
 � ��� �������'

���� q[X\K] ∩ q[K] = ∅�

4�����
� ���%��	� ��)'	�������� �������(���� q� 3� �	��'
� x, x′ ∈ X ��	�� /�
q(x) = q(x′)� ;�
 �������� ����������� /� x = x′� ?	/� x, x′ ∈ K� �� �������� ��������
�������' 
 �������� q | K = f | K � ����� /� f 7 �	�������� ?	/�� �����	���� x ∈ K
� x′ 	∈ K �� 
 ���� �������'� /� q(x) 	= q(x′)� ��(�� �� 

��,�$%� 
����������� 
�(�
�
����������� /� x, x′ ∈ X\K� A ��	�
� ��
� δ(x) � δ(x′) ���
���� ��� �����
3����(�
�� /� 
 �������� q(x) = q(x′) � 
 �������� �������(���� q �� ��
� �
�� �I�

� �E�� �������' �������� F (x)(1) = F (x′)(1)�

4�����
� ������ /� δ(x) = δ(x′)� :�������
� �������(��� ;�!�& δ(x) < δ(x′)�
-���� 
� ��������$ �������(���� q� ����' ��	� ��&��� δ� δ(x)

4
< δ < δ(x′)

4
� ��� �	���

P (x) |[1−δ,1− δ(x)
4 ]

n≡ 0� � ��
� q(x) |[1−δ,1− δ(x)
4 ]

n= F (x)(1)� � ��& %��� �	 q(x′) |[1−δ,1− δ(x)
4 ]

n=

F (x′)(1) + P (x′) |[1−δ,1− δ(x)
4 ]

n � �� P (x′) |[1−δ,1− δ(x)
4 ]

n 	= 0 �/� �������' 
 �
��� �E��� 1�

����
��� ������%����� 
 �������$ q(x) = q(x′)� ��(�� δ(x) = δ(x′)� -�
�� 
� ��������$
�������(���� q� 
�(�
� ������(������ /� P (x) = P (x′)� .�	�������,� ��)'	��������
�������(���� h̃ � �
��� ���@�� ����
�'
� �������� x = x′�
C�� �������� /� �������(���� q ' 
�
	����
 �	�������
� ������ �������� /� �	/�

{xn} 7 ��	� �������������� /� {q(xn)} 
����'���� �� ���	��� ���
���� y ∈ C(In)� �� {xn}

������ 
��(�� ����������������� ��	���	� q | K = f | K 7 
�
	���� �	�������� ��#
���� ��
������� ������	� 	��� xn ∈ X\K� 3� 
��(����� ������������� {q(xn)} � ������#
�� �������(���� G �������' 
��(����� ������������� {δ(xn)}� 1� 
�(�
� �����������



���!���$%� �
��� ���@�� /� {δ(xn)} 
����'���� �� δ0 ∈ [0, 1]� G�
�����
� ��� 
�(����
�����	��

:��,�& ������	8 δ0 = 0� ?	/� δ0 = 0� �� ������������� {F (xn)} ���
�' �� y �
{d̂(F (xn), F̃ (xn))} ���
�' �� 0� ����� ������������� {F̃ (xn)} ���
�' �� y� :������������
 ��	*�& {F̃ (xn)} ���������$�� ��� %������ �������������8 ���!��! 
�( ���
����� ��� �#
	��  ��	*�& F̃ (xn) �� ���
��(���! A � I

n ������ {µ(xn)}�� �� ����������! 
�	��
�����
�������
�! ���
����� *�! ���
��(�� A � I

n ������ {∆′(xn)}� ������� �	 ����	� ��� ���#
	�" ���
��(��� A� diam(A) ≤ ∆′(xn)� �� diam(A× F̃ (xn)(A)) < µ(xn)

8
�� ;�����'
�� /� 
�

�
��%����
� δ(xn) = min{1
2
∆′(xn), µ(xn)

8
}� ��
�� ��	���	� ������������� {δ(xn)} ���
�'

�� ���� � µ(xn) > 0 �� ∆′(xn) > 0� �� �����&
�� ���� 
 ��/� 
�
��%���! �������������&
������� ���
����� �� ����� :�������
� ������ /� ������������� {µ(xn)} �� ���
�' ��
0� -���� 
 �
��%����  ��	*�& ∆ �� ∆′ �� ��
� 
 �
��� ������ ����� 
 
�	��
�������� ����#
�� ���
���� ���
��(�� A � I

n� �������'� /� ������������� {∆′(xn)} ��	�( �� ���
�' ��
����� -�
� � ������������� {δ(xn)} �� ���
�' �� 0� /� ������%��� ��%��	���& �
���� ��#
(�� ������������� {µ(xn)} ������� ���
����� �� 0B ���� ������������� {d̂(F̃ (xn), f(xn))}
���
�' �� ���� 
����� ���� ��
� ������������� {f(xn)} ���
�' �� y � {ε(f(xn))} ���
�' ��
ε(y) > 0� 3� �
��%����
  ��	*�" µ 
����� �������'� /� ���� ������������� d̂(f(xn), f [K])
������� ���
����� �� 0� ����� y ∈ f [K]� ��	���	� �������(���� f 
�
	���� ��� f [K]�
�� ������������� {xn} 
����'���� �� f−1(y)�

4����& ������	8 δ0 > 0� 3 �������� �������(���� q �������'� /� ������������� {P (xn)}�
� ��(� � ������������� {h̃(xn)} ' 
��(��$ � �������� C(In)� ��	���	� �������(���� h̃ '

�
	����
 �	�������
� {xn} 
����'���� � �������� X�

�)!? 4�  �� ���	������ m ∈ N ��
�������� �	��	��� q−1[C>γm(In)]\K = Am\K�
3� �	��'
� �������� x ∈ X\K� 9��%��	� 
����(�
�� /� 
� ��������$ �������(����

q� dimH

(
graph

(
q(x) |

In\[1−δ(x),1− δ(x)
2 ]

n

))
= n� ���� ��,�
� �����
�� dimH(graph(q(x))) =

dimH(graph(G(x)))� ?	/� x ∈ Am� �� ��� ���	��� p ∈ Nm� d(x, Ap
m) = 0 � ��
� ϕi(m,p)(0) =

ĝi(m,p)� �� dimH(graph(ĝi(m,p))) = γm+1 ��
��� �0��� A ��	�
� �����	�� dimH(graph(q(x))) >
γm � q(x) ∈ C>γm(In)� ?	/� x 	∈ Am� �� ��� ���������� p ∈ Nm� d(x, Ap

m) > 0 �
ϕi(m,p)(d(x, Ap

m)) ∈ PL(In) ��
��� ����� 4��� �����(���� ' ���������
 ��� ���! m′ ≥ m�
��
� dimH(graph(q(x))) ≤ γm� . *��
� �����	�� q(x) 	∈ C>γm(In)� L� �������� ��������
���������

�)!? 8� ,	��-��!���� q � Z#�
�������"�

��	���	� q[K] = f [K] ' Z#
��(���$� ������ �������� /� q[Y ] ' Z#
��(���$� �	/�
Y ⊆ X\K 7 
�
	���� 
��(���� +�� *� �%������� ��	���	� ��� ���������� x ∈ Y
 ��	*�� q(x) |[1− δ(x)

4
,1]

n 7 ����	�� -�
� �� �������� �
�� ��� � �E�� ��
������ Ht : C(In) →
C(In) �������(�' C(In) � ���������� �� q[Y ] ��� 	�(���� ��������� t < 1� A
��� ���

����,�' ��������� �����
��

:������ C(In)� �	 ������������& 
����
����& ������� M��,�� ��
��
�� ��& �� l2�
� ��(� �� s� 3 �����
� � �������'� /� ��� 	�(���� γ ∈ [n, n + 1)� 
��(��� C>γ(I

n)
' Fσ#
��(���$ � C(In)� 3 ��	�����" ��
�����&��" ��!��������� 
��(��� C(In)\PL(In)
� �����������& ��
��� ������� � �������'� /� 
��(��� C>γ1(I

n) 
�������� � ���	�&
σZ#
��(��� �������� C(In)� 3 *�! 
��	������ �����
 �� 2 �� ����������! ��
��������
�����" �������$%�! �����
 �������' ��	�& �������	�

�$�6(*!?� .���	�������	 (C(In), (C>γk
(In))∞k=1) 	 (s

ω, (Σk ×s×s×· · · )∞k=1) ��"��"����	�



F=-KG+-AG+

+� ��� ��JJ K� L�� M�N�����$O����P� ��J L Q J R�  N S����� � �Q���P � * T�P��"���U VJP�W��"� �&&+� * ��
,I�* ,�& Q�

�� XJ������P Y� TZP "Z��R P�P���P �� ��N�����$�����P� ��J ����N J�P ��� �QQJ����� �P � * T�P��"���U �"�[�
\��W�"P������ +HHI� * ++) Q�

�� 4���� ]� 0��	�� Fσ4
�����
�	�� �� 	/����� �� �
 ��������� 33 S��������� �������������* +HHH� * ��
+'H� � � �� * ^�++'*+�,�

I� 4���� ]� 0	���� 5��6���
��	7 
�� 8	� �����

	���� 33 ^" ������RP  N ��� ���#J W M�P������  N ���������$
�P� * +HH,� * ���+�� * ^�GH*++I�

'� _���#� L�� ]���J L�� `�"������ �� TZP "Z��R ���P �� M�N�����$O����P� ��J ����N J�P� * aW�WU ��La
^�ZJ�P��"P� +HH,� * �� +� * ��+ Q�

,� X� R��R�� ]� 9� ��

�� �� /��������/����) ����������) 
�� ���
	����) 883 :/� ���
�;��� ����
� 

��

33 ^" �� a �� � ����� � �� * +H)�� * �� �� * ^�I,�*IG��

)� O�[#P�"� K�� K�� � R�JP#� K� :/� 	�������

� �����
	 �	��
	��� �� �7�	��� �� <������� ��

�� 33 �����
T��� * +HH+� * �� �H&� * ^�'�)*'I��

G� S�J� ��" b� K� L�� X� ���"�  N S"����J ���P� * 4��Z"��R� \��W�"P��� ^"�PP� +HG'� * +,� Q�

H� c�R���� Y� =�� �
�������4=�������� 6�� >
�	����
/�� ?����>	������ �� ��	���
/�� @A
���� 33 K� "��$
�� ��R�d� ����� * +H,H� * _� ��I� * +,�*+)+�

+&� e	
�� f� g	�1A�2��6>�C: ���6�/� * .�U .�0� +H),� * II� <�

++� h26�2B202= i� -�� g2��� �� j� k6�����C ��20�� @	�1A�: � @	�1A�2��6>�2B2 ���6�/�� * .�U
-�	1�� +H),� * 'I� <�

+�� _�PP�R� 4�� ^�J�!��P#� T� ��J����� � Q��P �� ��N�����$�����P� ��J � Q J R� � * c�"P!�d�� �&&+� * �'� Q�

+�� ��!�"��# �� ��������� ��	� ���
	�� 	� �
������� ��������� 33 ��P��# aW�W \��W�� ��"� ����$����� *
�&&�� * ��,+� * ^�+�+*+�G�

l0�1�0;��<>1�: ��A�2��6>��: 	��=�0<���� ����� j� ���@���1�

B�-�CD�� EFGEHGHEEI


